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PF2U [Post Disruption]

T T T T T T T T T T T T T T T T T

E Faults (NC): [1.5000694, 2.5002687]
Faults (PS): [1.5000694, 2.5002687,

Shot #: 3098, Param Tree: 72

= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

E Conditioned Data (DCPS), Limits: [-1.5000000, 15.000Q00]
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_"Action (idl), Max = 533.330, End Val.= 533.330
L Full Action (idl), Limit = 1240.00, Max.=533.752, End Val. 533.330
- Shot #: 3098, Param Tree: 72
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E_IDL, Circular, [-0.0128497, 19.9921]
DCPS, Circular, [-0.012849693, 19.992083
IDL, Shaped [Displaced], [-0.0131860,

DCPS, Shaped [Displaced], [-0.0131
Shot #: 3098, Param Tree: 72
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